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BB Hx —8 48 | 42 90 | 22.8 | B7.2 26 EmAR BZ 41 | 35 76 4.8 71.2
YEERS PR TR 41 | 38 79 | 10.8 | 68.2 27 BE EH 43 | 45 88  16.8  71.2

3 o B 43 | 45 88 19.2  68.8 28T #f Lk # 46 41 87 15.6  71.4

4 WEH K#E 40 | 41 81 12.0  69.0 28T &1 WFE 46 41 87 15.6  71.4

5 M EE 38 36 74 4.8 | 69.2 30 [A B 41 | 40 81 9.6 @ T71.4

6 HE X 44 | 48 92 22.8  69.2 31 MK JRE 40 | 41 81 9.6 | T1.4

T RE RE 36 37 73 3.6 69.4 32 &iF EH 44 36 80 8.4  171.6

8 R 1FR 50 46 96 | 26.4  69.6 33 (i FEZ 4T | 45 92 | 20.4 T71.6

9 ffE 40 @ 44 84 14.4  69.6 34 HF HETE 40 | 39 79 7.2 T1.8

10 JEE BT 37 | 41 78 8.4 | 69.6 35 JHEJF EE 40 39 79 7.2 T71.8

11 HFib BER 37 40 77 7.2 | 69.8 36 IRE R 43 | 42 85 13.2  71.8

12 HE ER 38 38 76 6.0 70.0 37 HE W5 43 | 39 82 9.6 | 72.4

13 A B 49 | 44 93 | 22.8 | 70.2 38 Hy E 39 37 76 3.6 | 72.4

14 BRH BA 40 | 35 75 4.8 | 70.2 39 AT # 39 37 76 3.6 72.4
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59 HH HEF 48 | 48 96 22.8  73.2 84 RE ER 40 38 78 3.6  74.4
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61 /NI Fath 37 40 77 3.6 | 73.4 86 HEIR E— 51 44 95  20.4 T74.6

62 #E & 39 44 83 9.6 73.4 87 HJIl HMflt 40 37 77 2.4 | 74.6

63 ELE B 42 40 82 8.4 173.6 88 THH f&fE 43 40 83 8.4 | 74.6

64 BRI EH 47 | 4T 94 20.4 | 73.6 89 HFE & 45 | 43 88 13.2  74.8

65 JIF: T 38 38 76 2.4 73.6 90 FArER - 41 | 40 81 6.0  75.0

66 f&EH FAE 43 | 45 88 14.4  173.6 91 BHA &K 40 | 41 81 6.0  75.0

67 &8 HEK 40 | 42 82 8.4 173.6 92 =8 R 43 50 93 18.0 = 75.0

68 HiEH & 43 | 45 88 14.4  173.6 93 VA Fnigk 39 | 48 87 12.0  75.0

69 FH EIr 43 38 81 7.2 13.8 94 mH BT 45 41 86 10.8  75.2

0 HEZ #BX 45 | 42 87 13.2  173.8 9% mR BE 44 | 41 85 9.6 | 75.4

71 EH BT 37 38 75 1.2 | 173.8 96 =& Wik 46 45 91 15.6 = 75.4

72 UAR & 41 | 46 87 13.2 | 73.8 97 HE EE 42 | 49 91 15.6 = 75.4

73 EfE ER 43 | 43 86 12.0 | 74.0 98 WH H= 54 54 108  32.4 75.6

4 R RS 46 46 92 18.0  74.0 99 BHA &R 41 | 43 84 8.4 | 75.6
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101 &f == 55 40 95 19.2 | 175.8
102 |FEE B 47 42 89 13.2 | 75.8
103 /NE EFE 44 45 89 13.2 | 175.8
104 & E #k— 45 50 95 19.2 | 75.8
105 E& FER 47 54 101 | 25.2  75.8
106 |fn#s zhAA 44 44 88 12.0  76.0
107 JEE ETR 43 44 87 10.8  76.2
108 [[LUAN FK 48 44 92 15.6 | 76.4
109 [fEK Fl— 50 48 98 21.6 | 76.4
110 A R 49 52 101 | 24.0  77.0
111 k2 F 49 58 107 | 30.0 77.0
112 BE 1B= 49 49 98 20.4 | 77.6
113 EA& &k 52 56 108 | 30.0  78.0
114 ¥H Bz 50 62 112 | 32.4  79.6
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